
















t%Gillpb 250 200

Rikql4 400 150

230 ST206











3. a = .Ol

x2 = x6
,=I

(Oi  - Eij2
Ei

1 30 l/6 50 -15 225 4.50

2 40 l/6 50 -10 100 2.00

3 32 l/6 50 -18 324 6.48

4 60 l/6 50 10 100 2.00

5 68 l/6 50 18 324 6.48

6 65 l/6 50 15 225 4.50

7aa.J 300 1 .oo 300 0 25.96

ST 206 235











?bw” 1 2 3 4 5 6 7 8 9 IO Sass

h-t-dU%MMll, 22 23 18 16 2 1 17 19 23 20 21 200

%R'l@RQ¶Jil~d  lO~Q9~dera~QEla'lbQsa~l~~ &afJa = .025(X* = 2.7,UOBI+kl  Ho)

hMX-4~~ 0 1 2 3 4 5 6 3a85

nawd 26 140 274 420 290 112 18 1,280

%~"w~aopralb0pabes~~~~~~~~  a = .Ol (X2 = 9.44, oJQU?iI Ho)

PI
10.24

huaqGi&i~alus 0 I 2 3 4 5 esiomnn-di

i-waukahcf ) IO 19 3 1 26 1 1 3

(X2  = 8.82,UOXJ%J  Ho)

240 ST206


















































































































